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Choose the correct answer 

Question 1  Which of the following graphs represents the function 𝑦 = 2 − 𝑥 ? 

A)  

 

B)  

 

C)  
 

D)    

 
Question 2 Which of the following functions is an even function? 

A) 𝑦 = 3𝑥3 B) 𝑦 = 2𝑥 + 5 C) 𝑦 = 𝑥2 + 𝑥 D) 𝑦 = 4𝑥2 

 

Question 3 The coefficient of 𝑥3 in the expansion of (2𝑥 − 1)3 is: 

A) −12  B) 6 C) 8 D) 12 

 

Question 4 The sum of the terms of the infinite sequence 
1

2
 ,

1

3
 ,

2

9
 ,

4

27
 , … equals 

A) 3

2
 

B) 2

3
 

C) 4

3
 

D) 1

2
 

 

Question 5 The value of 𝑘 such that the quadratic equation 9𝑥2 − 24𝑥 + 𝑘 = 0 has two equal roots is: 

A) −16 B) 16 C) 12 D) −14 

 
Question 6 The line 𝑦 = −2𝑥 + 6 is perpendicular to the line: 

A) 2𝑦 − 𝑥 + 6 = 0 B) 𝑦 + 2𝑥 − 8 = 0 C) 2𝑦 + 2𝑥 + 1 = 0 D) 𝑦 + 5𝑥 + 4 = 0 

 

Question 7 The intersection point between the two lines 𝑦 = −𝑥 + 6 and 𝑦 = 4𝑥 − 4 occurs at 𝑥 = 

A) −3 B) 1 C) −2 D) 2 

 

Question 8 If 𝑦 = 8 + 4𝑥4 , then 
𝑑𝑦

𝑑𝑥
 is 

A) 𝑥3 B) 8𝑥3 C) 16𝑥3 D) 36𝑥3 

 

Question 9 If 𝑦 = 3𝑥2 + 5, then 𝑦′(−1) is 
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A) 6 B) −6 C) 8 D) −8 

 

Question 10  A triangle ABC has side lengths AB= 3 cm, AC= 5 cm, and BC= 4 cm. Then cos(A) 

equals 

A) 
3

4
 B) 

1

4
 C) 

1

3
 D) 

3

5
 

 

Question 11 The point (−2,0) lies on  

A) positive 𝑦 −axis B) negative 𝑦 −axis C) negative 𝑥 −axis D) positive 𝑥 −axis 

 

Question 12 The value of 
(81)

−1
4 (−6)2(16)

−5
2

(3)−2(2)3  is 

A) −81

2048
 

B) 27

2048
 

C) 81

2048
 

D) −27

2048
 

 

Question 13 The domain of the function 𝑓(𝑥) = √𝑥2 + 5 is given by 

A) ]−∞, ∞[ B) [−5,5] C) ]−∞, −5] D) [−5, ∞[ 

 

Question 14 The set of solution of  |4 − 𝑥| ≤ 3 is 

A) ]−∞, 1] B) [1, 7] C) [7, ∞[ D) ]−∞, ∞[ 

 

Question 15 The algebraic solution of the equation 32𝑥−5 = 3−𝑥+1 is 

A) {−2} B) {2} C) {−3} D) {3} 

 

Best Wishes for all 

Important tables/formulas 
Arithmetic sequence: 

General 

term: 
𝑎𝑘 = 𝑎1 + (𝑘 − 1)𝑑 Sum: 𝑆𝑛 =

𝑛

2
(𝑎1 + 𝑎𝑛) =

𝑛

2
(2𝑎 + (𝑛 − 1)𝑑) 

Geometric sequence: 

General 

term: 
𝑎𝑘 = 𝑎1𝑟𝑘−1 

Finite 

sum: 𝑆𝑛 =
𝑎1(1 − 𝑟𝑛)

1 − 𝑟
 

Infinite 

sum: 
𝑆∞ =

𝑎1

1 − 𝑟
  ,      |𝑟| < 1 

Additional laws: 

Permutations: 𝑃𝑟
𝑛 =

𝑛!

(𝑛 − 𝑟)!
 Combinations: 𝐶𝑟

𝑛 =
𝑛!

𝑟! (𝑛 − 𝑟)!
 

The law of Cosines in a triangle 

𝐴𝐵𝐶: 
�̅�2 = �̅�2 + 𝐶̅2 − 2�̅�𝐶̅ cos 𝐴 

Binomial expansion: (𝑥 + 𝑦)𝑛 = 𝑎𝑛 + 𝐶1
𝑛𝑎𝑛−1𝑏 + 𝐶2

𝑛𝑎𝑛−2𝑏 + ⋯ + 𝑏𝑛 

Differentiation Formulas 

𝑑

𝑑𝑥
{𝑥} = 1 

𝑑

𝑑𝑥
{𝑎𝑥} = 𝑎 

𝑑

𝑑𝑥
{𝑥𝑛} = 𝑛𝑥𝑛−1 
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 جابة الصحيحة الإ اختر

sأي من الرسومات الآتية تمثل الدالة   1سؤال  رقم   2 w−  ؟  =

A)  

 

B)  

 

C)  

 

D)  

 

 
 ؟ زوجيةالدوال الآتية دالة أي من   2سؤال  رقم  

(A 3s3 w= (B 5 s2 w+ = (C 2s s w+ = (D 2s4 w= 

 

1)3في المفكوك  3s  معامل  3سؤال  رقم   s2)−  هو   

(A 12− (B 6 (C 8 (D 12 

 

مجموع حدود المتتابعة اللانهائية    4  رقم  سؤال
1

2
  ،

1

3
 ،

2

9
،

4

27
 يساوي   ، ...

 (A 
3

2
 (B 

2

3
 (C 

4

3
 (D 

1

2
 

 

  التربيعية للمعادلةتجعل التي  ;ما قيمة    5سؤال  رقم  
20 ; s24 s9= +  ؟متساويينرين جذ −

(A 16− (B 16 (C 12 (D 14− 

 
6الخط المستقيم  6سؤال  رقم   s2 w+ −    لخط المستقيم ...ا عمودي على =

(A 0 6 s w2= + − (B 0 8 s2 w= − + (C 0 1 s2 w2= + + (D 0 4 s5 w= + + 

 

6 الخط المستقيميتقاطع    7سؤال  رقم  s w+ − 4الخط المستقيم مع  = s4 w−  ... س = عند  =

(A 3− (B 1 (C 2− (D 2 

 

أن   فرضإ  8سؤال  رقم 
4s4 8 w+   فإن  =

w]
s]

 هي 
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 (A 3s (B 3s8 (C 3s16 (D 3s36 

 

إفرض أن    9سؤال  رقم 
25 s3 w+ )فإن   = )

w]
1

s]
= − 

(A 6 (B 6− (C 8 (D 8− 

 

3أطوال أضلاعه هي   fh]في المثلث    10سؤال  رقم  fh= ،5سم [h=  ،4سم [f=   سم. قيمةh  تساوي  ... 

(A 
3
4

  (B 
1
4

  (C 
1
3

  (D 
3
5

  

 

)النقطة     11سؤال  رقم   ...  محور تقع على −2(

(A  الصادات الموجب (B  الصادات السالب (C  السالب السينات (D  الموجب السينات 

 

قيمة المقدار   12سؤال  رقم 

5 1
22 4

3 2

(16) (6 ) (81)

(2) (3)

− −

−

 − 


 هي  

 (A 
81

2048

−
 (B 

27

2048
 (C 

81

2048
 (D 

27

2048

−
 

 

مجال الدالة   13 سؤال  رقم  
25 s w+ =S  هو 

(A   − (B  5 5− (C  5− − (D  5 − 

 
3  مجموعة حل  41سؤال  رقم   s 4  هي  −

(A  1 − (B   7 1 (C  7 (D   − 

 
الحل الجبري للمعادلة التالية    51سؤال  رقم  

1 s 5 s23 3+ −  هو   =−

(A  2− (B  2 (C  3 − (D  3 

 
 فيق تنا بالتومنيامع خالص ت

 صيغ مهمة وجداول 
المتتابعات 

 الحسابية
k](1الحد العام:    k) h p− + kمن الحدود:    kمجموع   =

k k
(](1 k) h2) (g h) [

2 2
− + = + = 

المتتابعات 

 الهندسية 

  :  الحد العام 
1 k

kvh p− = 

:   من الحدود kمجموع  
k

k

( v 1)h
[

v 1

−
=

−
 

:   من الحدود مجموع  
h

[
v 1

=
−

 

 لاقات التفاضلع

 الأساسية 

]
1 (s)

s]
= 

]
h (sh)

s]
= 1 k k ]

sk ( s)
s]

− = 

 مفكوك ذات الحدين
k 2 2 k k 1 k k k k

2 1f 000 f h r f h r h (f h)− −+ + + + = + 

 قوانين أخرى 
   :   تباديلال

k

v

!k
g

!(v k)
=

−
 

      التوافيق: 

k

v

!k
r

!(v k)!v
=

−
 

مثلث  أي  في  التمام  جيب    :  fh]قاعدة 

2 2 2h [f2 [ f h
−− − − −

− + = 
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